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Outline
1. Today’s Topics
a. Three steps back for the y7w
b. 71%9% v for the yrw
2. p”WY NIYPOD 3 NYOD (71:39P)
a. When the y”w finishes his silent y71w, he should take three steps back. When he does y”wn narn, he
need not take three steps back. (vw)
1. Q: Why are three steps not necessary after y”wn nmn?
1. The y”w relies on the three steps that follow the w»1p after 11°¥% x23, and the parts of
nvon in-between are all considered part of the 17%°5n71 970 (7° 273Wn)
a. Therefore, the y”w should not speak non-n%>sn matters between the
conclusion of y7wn n71n and the w>1p after 1%% k21 (ow 2730n)
b. Q: What if the y~w is unable to take three steps back after his own 7%°sn
because of people davening all around him?
1. In only this case, he may start y”wn namn without three steps back
because of x112°¥7 X770 (20 Y77 X7TWIA,2PWOKR 27)
ii. He should move his feet a bit (aw y>27p 1793)
c. Q: Must the y”w wait after his three steps back following w>1p?
i. Yes, he should wait the time it takes to walk niax 7 (21 '¥73 7RI 7793)
. Q: If the y”w wishes to take three steps back after y”wn na1n, may he do so?
1. Yes, we do not protest against him (v> 271wn)
iii.  Q: Ifthe y”w will change at 1%% x21/7wx, when should the first y7w take his three steps
back? (24 'vm)
1. After y7wn nmn (@nn 72,781 073)
2. After wp >xn (w0 ox 2)
b. Ifthe y”w davened only aloud, then he should take three steps back afterward. (x7»)
1. Q: Why?
1. Because he must first depart from his personal requests, and then later he must do
so after w»1p for the n%on he davened on behalf of the 112°% (5 273wn)
3. p7WR NIINA PI¥72 1Y ANDN TNDW /71 DMK (3:337)
a. The y”w should say nnon *now ‘i1 before y7inw, but he should not say *» »nx 11¥7% »i> (797 ,3770)
1. Q: Why not?
1. Because he relies on 7p1nnivx 2apnn~, which he says at the end of n%sn (x5 273wn)
a. Therefore, on ax2 v, the y”w should say 11%1% 127> (25 'y X3: OP: 3 ©1OX N1227)
b. Therefore, if the y”w changes at »wx, the first y”w should say 1% 1>
(W D°171INR)
ii. Q: Do all agree with the x”1m72
1. No, the 779w and the x773 disagree and say that the y~w should say 71%1% 1>
(X3 2730n)
a. Q: How should he say it?
1. Quietly (26 'y71 1:5 y7w8p)
ii. Aloud (p>¥21910 773)



